機翼積冰之成長預測分析
The three causes lead to Airplane crash that include human, mechanism,and the weather. Ice accretion, the topic we want to discuss in thisarticle, categorized into the weather. Broadly speaking, the reason ofice accretion was that temperature of air lower than freezing point,and droplet exist in supercooled water. When droplet impact onairfoil, it accretes. Bowyer's unstructured grids scheme is useful togenerated grids. It will generate grids automatically only by someinner or outer boundary points. It's easier to add or eliminatespecific grid, and thus more suitable for complex geometry, just likeice accretion shapes. The numerical scheme employed is the typicalRoe's scheme on Euler equations, and the 4th order Runge-Kutta timestepping method is also used to accelerate the convergence rate.Droplet motion equation and tell droplet if impact the airfoil or not,based on the results of solver. Apply ice accretion analysis, the iceaccretion shape come out. After that, the grids regenerate, so doflowfield and ice accretion. It lasted repeatly until the time we set.The ice accretion results show that the trend of ice accretion iscorrect, but ice accretion profile and ice accretion thickness is notas good as we expected. Several improvements have been presented.
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